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Question: 21

Refer to the exhibits.

A customer is growing rapidly, and they need to add as many drives as possible to their MSA 2052 array. You created
the original configuration.

How many drives can be added to the customer array? (Select two)

A. 48 SFF drives
B. 24 LFF drives
C. 12 SFF drives



D. 12 LFF drives
E. 24 SFF drives

Answer: A,C,E

Question: 22

A customer Has a data center with third-party routers and firewalls You are designing a new data center network
switch architecture consisting of FlexFabric switching for the data network and ArubaOS-Switch switching for the
out-of-band management network.

The customer needs a network management platform with the capabilities to manage and monitor the entire
environment

Which management platform meets the customer requirements?

A. Aruba Central
B. HPE OneView
C. HPE IMC
D. Aruba Airwave

Answer: C

Question: 23

A client needs a data center network for a highly-virtualized server environment.

They have the following requirements

- 25 Gb connectivity from the servers to the top-of-rack switches

- support for iSCSl storage

- lowest possible latency between their VM farms, which are contained In separate cabinets and connected to 
different top-of-rack switches within the data center

- support for Python script interpretation and open APIs

Which networking product line and architecture should you recommend?

A. ArubaOS-Swrtch configured in a spine/leaf architecture with 5406R switches at the spine and 2930M leaf switches
B. ArubaOS-CX configured in a spine/leaf architecture with 8325 switches at the spine and 8320 leaf switches
utilizing VSX between cabinets
C. ArubaOS-CX configured in spine/leaf architecture with 8325 switches at the spine and leaf
D. HPE FlexFabicc configured in a traditional two-tier architecture with 5950 switches at the core and 5940 access
switches configured using IRF stacks per cabinet

Answer: A

Question: 24

DRAG DROP



Match each ProLiant solution to its ideal use case

Answer: A 

Explanation: 

4 , 3 , 2 , 1

Question: 25

In which protocol are REST API requests transported?

A. HTTP
B. CRUD
C. SOAP
D. SSH

Answer: A

Explanation:

Reference:

https://techhub.hpe.com/eginfolib/servers/docs/HPRestfultool/iLo4/data_model_reference.h tml

Question: 26

A customer recently installed a VMware environment with HPE ProLiants, HPE MSA storage, and Aruba switches.

What should you recommend to the customer to manage their support contracts with HPE?

A. HPE InfoSight
B. HPE Recovery Manager Central
C. Service Pack for ProLiant



D. HPE Insight Online

Answer: D

Question: 27

HOTSPOT

You are configuring an MSA 2052 for one of your customers in OCA.

Click on either one of the two places on the Bill of Materials screen that will enable you to verify the configuration and
get details on any errors.

Answer: D

Question: 28

A customer has a small business office and is concerned that the local storage in their current ProLiant Gen 10 server
with a Linux OS Is reaching maximum capacity

Which solution should you recommend to expand the customerâs data storage capacity?

A. StoreEver



B. StoreOnce
C. SimpliVity
D. D3000

Answer: D

Question: 29

What is the process or writing data to two locations within a single array in real time?

A. replication
B. business continuity
C. data mirroring
D. clustering

Answer: C

Question: 30

A local state college is implementing a new VDI cluster to support computer and testing labs.

They have the following requirements:

â Three VMware ESXi Hosts, each with one AMD processor, 1 TB of RAM, 16 Gbps FC Dual Port HBA.

â HPE Nimble AF20 with 17 TB usable capacity.

â Integration into an existing HPE FlexFabric 5710 and HPE SN3000B Fibre Channel SAN switches.

â The solution must fit in 7U of rack space. If the customer needs more capacity in the future, they will use scale-out
growth.

Which server model should you recommend to this client?

A. HPE DL385
B. HPE DL380
C. HPE DL360
D. HPE DL325

Answer: B
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